5494

20214E/E BEFVT—MESER(EBA) 42 Td MArKE

BEES 7308 MBS |[JryavERRiEB B isE 144 mEEHK 39
EE-ER A3 HE4 |=F & &= 27.1%
LR EE PR RTR D 8 | SR BT —e=RRhE || a8 A TR (1-8) 2.6%
50 -
4.0 | B
3.0 b b e e
2.0 ot et
1-0 | | | | | | | | |
1-1 21 22 2-3 24 2-5 26 27 2-8 29 2-10 \ DEE DPRHE O%E BOPFHE OFE
I
] EEB (N, EEE(%)
No. ERRIXC Iy | sSD "52 $2
5 4 3 2 1 EZE | B
CORBEIC, CNETICE DB (B RERTE S e IR I
1 |B-FEEREREDT VI VIFEDIGEIIREIR 4.03 0.89 14 14 9 2 0 39 0
) LELED 359 | 359 | 231 5.1 0.0
/4
EEEEHPAIVT-VavE, 8 23 7 1 0
1 CoszonEsE LKiEiTE 397 | 070 =205 | 500 | 179 | 26 | 00 | °° 0
COFETIE., EUBEM - ## - ERLEN 9 22 6 2 0
2 |ggantik 3.97 | 077 o4, 564 | 15.4 5.1 0.0 39 0
COBETHBRFELIII"r—YavE 8 22 7 2 0
3 |miEmIces5E LTI 392 1 076 |05 | 564 | 17.9 5.1 0.0 39 0
BEEFPELATEL. COBECHTS 7 23 7 2 0
4 |maomsrmiE 390 | 074 1591 590 17.9 5.1 0.0 39 0
:@E#@Ew(:\ 15@%?57::0\ 271minkLE|211-270min]| 151-210min| 91-150min| 90min LA A
ENHNVEE LFELD 1 4 5 12 17
5 |REBEICHELTOIE/Y, A5 viBgicsn [ 1.97 | 1.10 39 0
TZoomBEICB MU T\ BB/, BRIESNEBE P EH
HIERE- FEET IR S, 2.6 10.3 12.8 30.8 43.6
o (e = ) = T E 5 17 15 2 0
6 |COBENNBELPISNICIERTER 364 | 0.77 o8 | 236 | 385 = 00 39 0
COBEEZ(TTHFFOLNRBE SN 6 15 15 2 1
T |zZossmhnie 359 1 080 1071 385 | 385 5.1 2.6 39 0
5 = g 8 19 11 1 0
8 |[HAamICHIRLT. COBEICERLTLS 387 | 076 o=t 287 | 282 26 00 39 0
COREDNBEREDDEICONVT, £TE3 | POBL | BOLLL | PROGL | SBTER
9 HEEOEZICHIEEEVNEDIIENTTH 464 100 ((CI=8) (TR (fFm5) (TR (CI=8) 39 0
(XA BRILN-100F . FHEEHOBANRENE : : 2 3 34 0 0
¥) 5.1 7.7 87.2 0.0 0.0
— 1w e Lzm e . _ BLTES | PRELL | BLOHELL | PPELL | ZLTES
COREDNBERENHZEICONT, @an | @A) (?é).ﬁs) @& | =AY
10 |BhEOEZICEELEVLEDIZENTTH 438 | 1.12 > g 55 5 5 39 0
(XI-9EARBRENG . FHEEHOBANERNET,)
5.1 205 | 744 0.0 0.0
i
No. EIRF EZE#| % | No. EIR EEH| %
B ] - BB LIRIBERRGT A
7 |22 - T ORZIESFOTELL 1 2.6 1 |optcEi 1 26
) (LB T VKR EDEREFE-TELL [ 0 0.0 I |66 TORWNIHREELTIELL 0 0.0
7 B2 DRIEBEELTEFLL 2 5.1 B |BESTE o EELVERECLTFLL 0 0.0
FHROIREATV1- % B RAPFERICE TR
¥ |éormmELcELn 0 00 | U |sisucEui 0 0.0
. - = = HR{%'%E'PC’;EIG)%%E'
b |$0E B EESOBEEARBLTELL 2 51 | 3 [ fmmLcELe 0 0.0




